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1-12. sorularda, cümlede boş bırakılan yerlere uygun düşen kelime ya da ifadeyi koyunuz.

1- 
The chemical........... used to prolong the life of cooked meats can be dangerous to our health if eaten in large enough quantities.

A) textures 
B) reactions 

C) additives 
D) distributors 

E) components

2- 
Although we still have some work to do before achieving our aim, there has been a/an ........... increase in productivity.


A) instinctive 
B) virtual 


C) ultimate 
D) sensitive 


E) moderate

3- 
The prices of new cars dropped in the UK some time ago, because the special car tax, which used to be charged in addition to normal sales tax, was .......... .


A) contributed 
B) hindered 


C) abolished 
D) multiplied 


E) approved

4- 
......... children are sometimes admitted to college programs at an unusually early age because no other level of schooling is appropriate for them.


A) Naughty 
B) Gifted 


C) Hindered 
D) Disabled 


E) Spoilt 

5- 
We did not see anything we liked when we were house hunting........did we see anything we could afford.
A) but                             
B) and
C) so                            
D) nor
E) such
6- 
Although the book was........written, the plot was not.......to keep me awake.
A) too well/so interesting               

B) good/too interesting
C) well/interesting enough             

D) as well/such an interesting
E) so good/as interesting
7-   Janet.......that she.......until it was too late.
A) doesn't realise/is being followed
B) wouldn't have realised/followed
C) hasn't realised/had been followed
D) won't realise/is going to follow
E) didn't realise/was being followed
8- 
The mechanic.......me that my car.......ready by tomorrow afternoon.
A) told/might be                            

B) is telling/had been
C) has told/is                                

D) was telling/was
E) had told/will have been
9- 
Although the murder rate has come down over the recent years, New York is still ....... dangerous city than London.
A) the most
B) 
just as
C) such a                         
D)
a far more                   
E) no more
10- 
.......we leave early, we shouldn't have to worry about the traffic.
A) On account of          
B) Because of
C) Provided that               D) Since
E) Even though
11- 
Kazakhstan is.......only country in the world that does not have....... national language of its own.
A) an/the                
B) —/any
C) the/a                            D) the/the
E)an/—

12-   

One of the reactors at the nuclear power plant........... killing over thirty people.
A) turned down          
B) blew up
C) poured down         
D) got off
E) went through                                                                   

13. -17. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.
Sumo wrestling is an (13) ....... popular sport in Japan. The Sumo champions are extremely large men who are not only tall but also weigh 130 kilograms or more. The (14) ....... that these wrestlers are so big is that the (15) ....... of the game is for one wrestler to either throw his opponent out of the ring or to force him to the ground. The larger a wrestler is, the greater his chances of (16) ....... a fight. These matches are (17) ....... very short, most lasting less than one minute.

13-


A)
extremely
B)
hardly


C)
only
D)
mostly


E)
rarely

14-


A)
caution
B)
aim


C)
reason
D)
outcome


E)
way

15-


A)
reference
B)
income


C)
result
D)
object


E)
inference
16-



A)
to win
B)
having won


C)
being won
D)
winning


E)
to be won

17-


A)
rarely
B)
sometimes


C)
usually
D)
never


E)
hardly ever

18 – 22. sorularda, yarım bırakılan cümleyi uygun şekilde tamamlayan ifadeyi bulunuz.

18.
___which has a fairly central situation.

A)  
We really need a hotel
B) 
They seemed interested in both houses
C)  It should have been easy to get them
D)   I arrived late for the meeting
E)   His mother decided to come by car
19.  
Construction workers will go on strike next Monday .......

A)  
so long as the only solution for a settlement is an independent enquiry into their working conditions
B)  
that they negotiated for over five hours and were unable to reach an agreement with the management
C) 
in case the workers were asked to compromise 

and accept a pay rise of 20%
D) 
because the two sides have done their best to settle their dispute by bargaining
E) 
unless  the  management  agrees to  accept their  claim  for a  50%  pay increase
20.       Big cars require a great many expenses, .....
A)  so long as one doesn't use them excessively
B)  
unless one could get a sufficient loan
C)  lest a number of people should afford them
D)  so it's worth thinking carefully before buying one
E)  
however essential they were supposed to be in business life
21.   
Undoubtedly,   the   life-style   we   are   familiar  with   today differs radically from that......
A) 
which   had   been   vividly   described   before   by   several authors
B)  
one which our parents led
C)  because the Industrial Revolution would have 
brought about a major social changes
D)  as long as a majority of the people still work on 
the farms
E)  
provided that the government's wage policy gives rise to an improvement in working conditions
22. 
In spite of the serious precautions, unemployment continued to increase during the second half of the decade, ......
A)  
as the rate of inflation will go up accordingly
B)  
even   if  the   workers   could   have   received   

additional fringe benefits
C)  while most companies would have been badly 

hit by the recession
D)  but thereafter it stabilized at about six per cent
E)  
despite the fact that the volume of exports 


cannot be increased
23. — 24. sorularda, verilen cümlenin hangi sorunun cevabı olduğunu bulunuz.

23.
Well, I’m afraid I’m not taking the car.

A)
Are you going to have your car repaired?


B)
Should I wait you at the bus stop?


C)
Would you like me to take you to the office?


D)
Will you give me a lift, please?



E)
Have you parked your car?

24.
He said he wouldn’t – not until he graduated.


A)
Will Philip take a job do you think?


B)
What did John tell you to do? 


C)
Do you think Sam will get married?


D)
Did Tom tell you anything about his graduation?


E)
What is Philip going to do after he has graduated from school?

25-26. sorularda, verilen İngilizce cümlenin Türkçe 

dengini bulunuz.

25. 
A politician may try to be completely honest, but he always knows he has to compromise.

A)
Bir politikacı tamamen dürüst olmaya çalışabilir ama daima uyumlu olmak zorunda olduğunu bilir.

B) 
Bir politikacı tam anlamıyla dürüst olmayabilir ama her zaman uyum içinde olması gerektiğini bilir. 

C) 
Bir politikacı için dürüst olmaya çalışmak yeterli olabilir.

D) 
Bir politikacı daima dürüst olmaya çalışır ama uyum göstermesi gerektiğinin farkındadır 

E) 
Politikacılar tamamen dürüst olmaya çalışabilirler ama daima uzlaşmaları gerektiğini de bilirler.

26. 
There is nothing that depresses me more than waking up with a hangover on a wet Monday.

A) 
En nefret ettiğim şey yağmurlu bir pazartesi sabahı bir baş ağrısı ile uyanmaktır.

B) 
Yağmurlu bir pazartesi günü bir baş ağrısı ile uyanmak beni çok sinirlendirir.

C) 
Beni sinirlendiren tek şey yağmurlu bir pazartesi günü bir baş ağrısı ile uyanmaktır.

D) 
Yağmurlu bir pazartesi günü baş ağrısı ile uyanmaktan daha kötü bir şey olamaz.

E) 
Yağmurlu bir pazartesi günü bir baş ağrısı ile uyanmaktan daha fazla beni sinirlendiren hiçbir şey yoktur.

27-28. sorularda, verilen Türkçe cümlenin İngilizce 

dengini bulunuz.

27-
Bir kimse kelimeleri doğru kullanabilmek için onları cümle içindeki anlamlarıyla öğrenmelidir.

A)
It is hard for one to learn words correctly, but we should use a dictionary.

B)
One should learn words with their meanings in sentences so as to be able to use them correctly.

C)
The words should be used correctly to be able to use them in their meanings in the sentences.

D)
The sentences should be used with the words correctly and their meanings as well.

E)
The meanings of the words in the sentences make it possible to use the words correctly.

28-
Nüfuslar sadece birbirine oranla değil aynı za​manda doğal kaynaklara bağlı olarak da artar ve azalır.

A) 
Population changes are related to one another and also to natural resources.

B) 
Populations increase and decrease relative not only to one another but also to natural resources.

C) 
Increases and decreases in population are related to one another and also to natural resources.

D) 
Increases or decreases in the population is related to each other but not to natural resources.

E) 
Populations increase and decrease relative both to one another arid to natural resources.

29-31.  soruları verilen parçaya göre cevaplayınız.

The primary school system in Turkey is largely the same as in Russia, with the exception that less time is spent on languages. English is compulsory in Russian education system. After that come two foreign languages in the secondary school. At least one science subject and a part of the time spent on games are sacrificed in order to give more time to the languages. Whether learning a language should be optional or not has never been thought by either teachers or politicians on the contrary to Turkey, where language training system has experienced many interferences leading to negative results.

29. 
It's clear from the passage that ......... .




A)
students may not study English in Russia


unless they choose the subject


B)
there are a great deal of similarities between Russian and Turkish primary school systems


C)
more time is spent on teaching English in

Turkey than in Russia


D)
Russian students learn all the compulsory



foreign languages during the years in the


primary school 


E)
science teachers never  neglect their  lessons for the sake of English in Russia

30. 
We may conclude from the passage that .......


A)
Russian politicians interfere the education


system whenever it is necessary


B)
the Russian are accustomed to sacrifice 



something for something else


C)
learning languages was optional once


D)
a foreign language is more important



than a science subject in Russia


E)
the more optional learning a language is, the better the result will be

31. 
The author argues that language training ..........

A)
in Turkey has been obstructed many times
B)
necessitates a lot of experience

C)
should completely be co-ordinated by teachers of English

D)
is done more professionally in the secondary school than in the primary school in Russia since two foreign languages are thought in this period of education

E)
ought to have been interfered only by teachers in Turkey

32-34.  soruları verilen parçaya göre cevaplayınız.

Of the world's 2,500-plus species of palm trees, the Palmyra palm is most important to man, next to the coconut palm, because it yields food and provides over one-hundred different useful end-products. To obtain the majority of its benefits, the Palmyra needs to be climbed twice daily to extract the nutritious juice from its flower-bunches. It is this juice, converted in several different methods, that is the basis for a wide variety of other products. Collecting this juice, however, is arduous - and often dangerous - work, for the trees can top 30 metres in height.

32.
When the Palmyra is climbed twice a day ……….                   

A)
it is possible to get most of its benefits

B)
strict safety measures are taken

C)
the best coconuts can be picked

D)  it encourages the tree to grow to over thirty 


metres

E)
the flowers are collected for processing

33.
According to the passage, …………….             

A)
each palm tree can produce over 100 coconuts

B)
the juice from coconuts is very nutritious

C)
there are at least two and a half thousand types of palm tree

D)
there are several different ways of collecting Palmyra flower juice

E)
many people rely on palm trees for their basic food requirements

34.
The juice from the Palmyra's flower-bunches…..

A)
is better quality if the tree is at least 30 metres high

B)
is only produced at certain times of the day.

C)
gets converted into over 100 different food types


D) 
is extracted by pressing the picked flowers


E) 
provides the raw material for many other products

35-37.  soruları verilen parçaya göre cevaplayınız.

The last drops of the thunderstorm had hardly stopped falling when the man stuffed his map into his pocket, settled his bag more comfortably on his tired shoulders and stepped out from the shelter of a large tree into the middle of the road. A yellow sunset could be seen on the horizon to the west, but straight ahead, in the direction of his destination, the sky was still dark grey and threatening. The man wasted no time looking at the view, but set out immediately with the determined walk of a person who has just realised that he will have to walk further than he intended.
35-   
From the passage, we can conclude that the man had gone under the tree .......

A)   to watch the sunset
B)   to tidy his bag
C)   to fold his map up
D)   to get out of the rain
E)    to have a rest

36-   
We can infer from the passage that .......

A) 
the walker did not know how to get to his 
destination
B)  
the sky had cleared and the man no longer 
expected rain
C)  the man might encounter further bad weather as 
he continued
D)  the man was amazed at the view of the yellow 
sunset
E)  
the man was carrying a heavy and inconvenient 
load

37-   
From the man's behaviour, the author 
concludes that the man .......

A) 
felt discouraged when he realized that he would 
have to walk further than he'd intended
B)  
had discovered that the distance to walk was 
longer than he'd first thought
C)  enjoyed walking and appreciated the time 
available to study the countryside
D)  changed his direction to the west as the weather 
looked clearer that way
E)  
made his travelling plan while he was under the 
tree
38-40.  soruları verilen parçaya göre cevaplayınız.

A German geologist, Wegener, first advanced the theory of continental drift — the idea that all the Earth's land was originally one single mass, and that long ago it started to split up, forming the separate continents we know today. From inquiries in this direction, we have also since discovered that the Earth's axis has shifted, so that different parts of the world have been exposed to Polar temperatures at different periods. The drifting is made possible by huge cracks in the Earth's crust which constantly enlarge their diameter. Consequently, we now know that Europe and North America are moving further apart by nearly an inch every year.
38-   
Wegener's theory of continental drift suggests that .......
A)  
the continents that exist used to be connected to 
each other
B)  
the position of the continents have remained 
almost unchanged over the years
C)  the continents we know today will split up further
D)  the South and North Poles have had Polar 
temperatures since the formation of the Earth
E)  
the separate continents will eventually come 
together to form a single mass
39-   
It's stated in the passage that the shift in the Earth's axis .......

A) 
refutes the theory that the whole of the Earth's 
surface used to be the san temperature
B)  
explains the reason why the modern continents experience different climates at different times of the year
C)  also affects the angle at which the Earth 
revolves around the Sun
D)  means that at different times,   various parts of 
the world have experienced Polar temperatures
E)  
was caused by the freezing temperatures which 
occurred at certain times on the Earth
40-   According to the author .......

A) 
Wegener's theory was supported by other 
German geologists
B)  
there was not much investigation into the 
subject before Wegener
C)  Wegener's initial findings led to other significant 
discoveries in the same field
D)  the Earth's continents are now nearer to each 
other than ever before
E)  
the distance between Europe and North 
America is getting smaller by an inch every year
41-42. sorularda, verilen cümleye anlamca en yakın seçeneği bulunuz.

41. 
Had I known I had succeeded in the test, I wouldn't be here for the second chance.


A)
I failed in the first exam, so I am here to
take the second one.


B)
I wasn’t informed that I had failed in the test;



therefore, I’m here.


C)
I could have succeeded in the second test if I 



had know that I had more chance.


D)
The second test looks like a great chance for 



me after my failure in the first one.


E)
The fact that I didn't know I had passed  the 



exam made me come here to take it again.

42. 
Not many of the students in our class are


expected to fail in the exam.


A)
None in our class expect to fail in the exam.
B)
None of the students in our class can be

successful 


C)
Everybody in our class wishes to feel 



confident not to fail in the exam.


D)
Most of the students in our class are hoped to



succeed in the exam.


E)
Teachers expect that most of the students in 



our class will be successful in the exam.

43 -44. sorularda, parçada bırakılan boşluğu uygun şekilde tamamlayan ifadeyi bulunuz.

43- 
.......Each stage is the result of erosion and has its own characteristics. The stages are known as youth, maturity and old age. The terms do not refer to the age of a river in years, but rather to the stages through which it passes in eroding the land over which it travels. The older a river is, the less steep the valley through which it passes is.
A)  
A river is a body of water flowing through a channel towards a lower level
B)  
The cut that a river makes into the landscape is generally known as a river valley
C)  
The place where a river begins its journey to the sea is called its source
D)  
Rivers have been an important part of the Earth's geology for billions of years
E)  
Rivers pass through a series of stages in their development called a life cycle
44- 
People have been using clay to make models of animals and human figures for at least as long as they have been painting on cave walls ........... They needed these pots for storing food or to bury the ashes of their dead. These earliest pots were all made without the use of the wheel, and these same hand building methods continue to be used by many potters today.
A)  
As they settled down to grow crops and raise livestock, the farmer potters began to make functional vessels
B)  
Instead of creating crude pictures for magic purposes, they tried to depict animals as they really looked
C)  
The invention of the potter's wheel revolutionised pottery
D)  
Some of the most beautiful pots on the world have been hand built
E)  
Mankind first began to settle down from nomadic life in northern Mesopotamia
45-46. sorularda verilen durumda söylenebilecek sözü bulunuz.

45. 
Unexpectedly a friend of yours turned up to inform you about an important meeting and, therefore, you couldn't keep your appointment with your dentist, Ms Barent. You call her secretary to postpone your appointment and say :


A)
I reckon many patients will be cancelling their


appointments today.


B)
Tell the dentist to telephone me when she 



returns, because I have a problem with my 



appointment.


C)
I'm afraid I have to put off my appointment with Ms Barent, which was for 7.30 this evening.


D)
I am sure the doctor has left a message with 



you, concerning my appointment.


E)
The dentist's office must be very crowded today.

46-   One of your friends at university does very little work and concentrates on enjoying himself. Near the end of the semester, he offers to pay you to write a research paper for him. Horrified at his dishonesty, you rebuke him by saying:

A)  
I wish you had told me earlier. It is too late in the semester to do it now.

B)  
I'm afraid I have so much work myself that there 
won't be time for me to do it.

C) 
That depends on how much you are offering. My services don't come cheap.

D) 
You should be ashamed of yourself. You are here to learn, not to get by on other people's work.

E)  
If I were you, I would offer more money. No one would do it for what you are offering.

47-48. sorularda, karşılıklı konuşmanın boş bırakılan bölümünde söylenmiş olabilecek sözü bulunuz.

47. 
Son 
: Mum! May I borrow your car for this 




evening?


Mother 
: .................................. .


Son 
: I promise that I won't exceed the 




speed limit.


Mother 
: All right. But get back before 11. 30.
A) 
Of course you can.

B) 
I'm not sure. You know you were given a ticket for speeding yesterday.

C) 
Do you really want to borrow my car?

D) 
How can you dare to ask me this question? 

E) 
How long will you use it?

48- 
Esther
:  Could I get new soles and heels 



on these please?

Cobbler
:  .......

Esther
: Do you really think so?

Cobbler
:  Yes, I'm afraid these are beyond 



repair.
A) 
Certainly. They should be ready by tomorrow afternoon.
B) 
I'm afraid your teeth are in terrible shape.
C) 
You'll need more than that. In fact, you'll need a new engine.
D) 
You'd be better off getting a new pair.
E) 
Of course. What size prints would you like?
49-50. sorularda, anlam bakımından parçaya uygun olmayan cümleyi bulunuz.

49. 
I) For us to see Superman flying, the actor has been filmed lying on his stomach in front of a brilliant blue screen. II) A wind machine makes his hair and cape flap as if he were flying. 

III) Superman has two different versions shown in the movies.  IV) The background scenes of the city are filmed separately from a low-flying aircraft . 


V) Later on, the two films are made into one by a machine called an optical printer so that Superman appears to be flying over the city.

A) I              B) II            C) III             D) IV              E) V

50- 
(I) Many people were surprised that Guglielmo Marconi shared the 1909 Nobel Prize for Physics with the relatively unknown German Karl F. Braun. (II) Braun himself was so stunned that he apologised to Marconi at the awards ceremony, (III) There is a generous cash prize to go along with the honour of winning the Nobel Prize. (IV) Braun assured Marconi that had it been up to him, Marconi alone would have received the prize. (V) Marconi privately agreed, but was gracious enough to change the subject.
A) I             B)II            C)III            D)FV            E)V
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